- N
Recommended to Add a SBL-1 Silicone
Box Liner (#10) or a foil liner (Sold Separately)
into the Lower Bucket for cleanliness prior to
grilling.
N ¢

Cleanup & Maintenance:

It's recommended to empty grease contents after every use. Use care when
opening or emptying The Grease Box as contents or the product may be HOT.
We recommend using gloves when cleaning The Grease Box. After removing
contents, rinse out with soap and warm water then hand dry only.

THE GREASE BOX LLC
Questions, comments or missing parts?
Contact us > support@thegreasebox.com
Register your products within 30 days of purchase for warranty.

WARNING: ATTACHING THIS PRODUCT MAY VOID THE WARRANTY TO YOUR OUTDOOR
COOKING APPARATUS. THE GREASE BOX LLC IS NOT LIABLE FOR FAULTY INSTALLATIONS,
IMPROPER MAINTENANCE, ANY DAMAGES OR ISSUES RESULTING FROM THE USE OF THE
GREASE BOX ON THE COOKING APPARATUS.

WARMIMG: This product can expose you to
chemicals including lead, which is known to the
State of California to cause cancer and birth defects

or ather reproductive harm. For more information,
go o www.phSwarnings.ca.goy

PAGE 4

THE
GREASE
BOX

PATENT NUMBER 11812895

GX-U

==l

=l
A=

/

(©)
For Recteq SmokeBox Accessory (Single Drain)

.

Tools Recommeded:

-Screwdriver
-Marker / Pencil
-Drill

-1/4" Metal
Drill Bit

GX-U for SmokeBox (Single drain) Installation Manual THEGREASEBOX.COM

PAGE 1



STEP 1: Confirm the fit

/ )
e Visit: thegreasebox.com/compatibility to check the fit Inside SmokeBox
This installation manual is for the Recteq SmokeBox a _ N Accessory (
accessory for a single drain on new Recteq models Inside SmokeBox Accessory )

(with an undermount grease spout).

e Make sure grill is turned off & cooled.

e Remove grease bucket (Image A). Clean the bottom
of the SmokeBox area. Remove the inner racks &
grease tray within the SmokeBox prior to install.

Grease Spout

STEP 2: (Use Image B)

CENTER SPOUT
Add Lock to Mounting Bracket (#1) in following

order: Shoulder Screw (#4), Lock (#5) then
High-Heat Plastic Washer (#3). Use screwdriver \ J
to install. Synch tighter to slow Lock swivel.

>
&
N
Gfl
T M
I:
2 @)
Ll
m &

Side View of Mounting Bracket D Front View

@
—®

STEP 3: (Use Image C)

Hold the Mounting Bracket (#1) up
against the bottom of the SmokeBox
accessory. Center the grease spout
within the opening of the Mounting
Bracket (#1).

STEP 4: (Use Image C)

Use a marker or pencil to mark the
holes of the outer x4 Weld Nuts (#6)
onto the bottom surface of the

SmokeBox. Place Mounting Bracket aside.

Note: Grease Tray and racks inside
should be removed prior to drilling.

Use a 1/4" metal drill bit to pilot out
the marked holes from below.

*Drilling may void Manufacturer's
Warranty. Install at your own risk.*

~
Inside SmokeBox Accessory
Bottom of SmokeBox
: ) ) — e
AR
Grease Spout Cb
Side View of
Mounting Bracket C

PAGE 2

STEP 5: (Use Image D & E)

Place Screws (#2) & Washers (#7) from
inside the SmokeBox down through
the four drilled holes.

Hold up Mounting Bracket (#1), and line
up each Screw (#2) into the Weld Nuts (#6)
at all 4 corners below.

With your other hand, advance each screw
evenly until bracket is secure and does
not move.

FINAL STEP: (Use Image F)
Rotate lock (#5) upwards.

*Recommended: add a SBL-1 Silicone Box
Liner or foil liner into the Lower Bucket for

cleanliness prior to grilling. Flip to Back Page
for Info and Care & Use.

Slide lower bucket into drawer rails.
Push it all the way back and rotate Lock
(#5) down.

The Grease Box is fully installed, locked,
and ready for its first cook

PAGE 3



